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Ideals for irreducible component#ﬂ)f Xpar

I = (W a4 2u+ 1)

* 1 irreducible components of dim¢ = 0, with total 84 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u®3 + 56u® + - -+ + 16u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs udt + 2942 + .+ 6u+1
C2, Cg uBt— B4+ —2u 41
c3,C10 B 4+ 2u41
C4,C8 utt =B 4 —du+ 1
C7,C12 W5 b du+1
C9, C11 udt =290 + . —6u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C5,C9 y84+53y83+~--+66y+1
C11
€2, €3, Ce 3t 4293+ 46y +1
€10
Ca,C7,C8 Y3t 49y 4+ — 62y + 1
C12




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y=1C)

Cusp shape

0.763893 + 0.6425071

1.33433 — 2.604121

0.763893 — 0.6425071

1.33433 + 2.604121

0.792082 + 0.6247131

— 5.017471

0.792082 — 0.6247131

5.017471

0.710184 + 0.6893501

1.67480 — 2.054741

0.710184 — 0.6893501

1.67480 + 2.054741

0.476640 + 0.8936871

—0.79843 4 7.367721

0.476640 — 0.8936871

—0.79843 — 7.367721

—0.798874 + 0.6269871

1.22047 + 10.614601

—0.798874 — 0.6269871

1.22047 — 10.614601

0.072967 + 1.0147501

—2.95072 — 2.154091

0.072967 — 1.0147501

—2.95072 4 2.154091

—0.789993 +- 0.6436411

6.04939 + 4.337721

—0.789993 — 0.6436411

6.04939 — 4.337721

—0.773008 4 0.666465.1

2.86621 — 2.052001

—0.773008 — 0.6664651

2.86621 4 2.052001

—0.454631 + 0.8531581

—1.67480 — 2.054741

—0.454631 — 0.8531581

—1.67480 + 2.054741

0.643313 + 0.8228591

3.24509 + 2.473631

0.643313 — 0.8228591

3.24509 — 2.473631

—0.047485 4 1.0602001

—4.39822 — 2.116381

—0.047485 — 1.0602001

—4.39822 + 2.116381

0.079203 + 1.0693101

3.884171

jen] Ben) Hen) Hen) Hen) Hev] Hev] Hen] en) Jen) Hen) Hen) Hen) Bev] Rev] Heo] fen) Hen) Hen) N o) Hev] Hev] Ras]

0.079203 — 1.0693101

— 3.884171

0

0.731757 + 0.5649081

—4.05942 — 3.966311

—2.91590 + 3.491311

0.731757 — 0.5649081

—4.05942 4 3.966311

—2.91590 — 3.491311

eI ||| ||| (g|e|g g2 |e2|g|g|g|”f|g|g|g|g|g|g|g |

= —0.067639 + 1.0899801 —6.04939 — 4.337721 0
= —0.067639 — 1.0899801 —6.04939 4 4.337721 0
= 0.074978 + 1.0925601 —4.90631 4 9.949331 0
= 0.074978 — 1.0925601 —4.90631 — 9.949331 0




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

= —0.716193 + 0.5522631

—4.16451 — 1.639161

—3.30737 + 2.615341

—0.716193 — 0.5522631

—4.16451 + 1.639161

—3.30737 — 2.615341

—0.005011 + 1.096860.1

—9.54569 — 2.838751

0

—0.005011 — 1.096860.1

—9.54569 + 2.838751

0

—0.587223 4- 0.6613751

0.139076 — 1.080380.1

—2.54390 + 3.630611

—0.587223 — 0.6613751

0.139076 + 1.0803801

—2.54390 — 3.630611

= 0.741950 + 0.8448281 4.16451 + 1.639161 0
= 0.741950 — 0.8448281 4.16451 — 1.639161 0
= 0.588860 + 0.9645301 2.95072 + 2.154091 0
= 0.588860 — 0.9645301 2.95072 — 2.154091 0
= —0.754193 + 0.8442251 5.52875 + 3.597461 0
= —0.754193 — 0.8442251 5.52875 — 3.597461 0

—0.082243 4 0.8522911

—3.24509 — 2.473631

—6.54650 + 4.358421

—0.082243 — 0.8522911

—3.24509 + 2.473631

—6.54650 — 4.358421

gie|e(e|e|g|g|g|e|g|g|g|e|g|g|g|e|g|eg|g|g|g|g|g|e|ge|ege|g|ge|:

= —0.751026 + 0.8649691 9.54569 — 2.838751 0
= —0.751026 — 0.8649691 9.54569 + 2.838751 0
= 0.736347 + 0.8795951 4.05942 + 3.966311 0
= 0.736347 — 0.8795951 4.05942 — 3.966311 0
= —0.745804 + 0.8840791 5.40777 — 9.268441 0
= —0.745804 — 0.8840791 5.40777 + 9.268441 0
= 0.585015 + 1.0076601 —1.83509 — 3.511821 0
= 0.585015 — 1.0076601 —1.83509 + 3.511821 0
= —0.595485 + 1.0072201 —2.86621 — 2.052001 0
= —0.595485 — 1.0072201 —2.86621 4 2.052001 0
= —0.632358 4 0.9918261 —0.88505 — 3.852131 0
= —0.632358 — 0.9918261 —0.88505 + 3.852131 0
= 0.669522 + 0.9811841 0.79843 + 7.367721 0
= 0.669522 — 0.9811841 0.79843 — 7.367721 0
= —0.647306 + 1.0291301 —5.52875 — 3.597461 0
= —0.647306 — 1.0291301 —5.52875 4 3.597461 0




Solutions to I} V—1(vol + /=1CS) Cusp shape
u = 0.654058 + 1.0309001 —5.40777 + 9.268441 0
u = 0.654058 — 1.0309001 —5.40777 — 9.268441 0
u = —0.694389 + 1.0089401 1.83509 — 3.5118271 0
u = —0.694389 — 1.0089401 1.83509 + 3.511821 0
u = 0.685026 + 1.0176201 0.21279 4 8.112851 0
u= 0.685026 — 1.0176207 0.21279 — 8.1128571 0
u = —0.695652 + 1.0240707 4.90631 — 9.949331 0
u = —0.695652 — 1.0240701 4.90631 + 9.949331 0
u= 0.690563 + 1.0321801 —1.22047 4 10.614601 0
u= 0.690563 — 1.0321801 —1.22047 — 10.614607 0
u = —0.693816 + 1.0335701 —16.24111 0
u = —0.693816 — 1.0335701 16.24111 0
uw= 0.638274 + 0.3658211 —0.21279 4 8.112851 1.45002 — 7.512741
u= 0.638274 — 0.3658211 —0.21279 — 8.112851 1.45002 + 7.512741
u = —0.623404 + 0.3880007 —1.33433 — 2.604121 —0.71892 + 2.812831
u = —0.623404 — 0.3880007 —1.33433 + 2.604121 —0.71892 — 2.812831
u= 0.585335+ 0.3172461 4.39822 + 2.116381 7.22959 — 3.542571
u= 0.585335 —0.3172461 4.39822 — 2.116381 7.22959 + 3.542571
u = 0.540814 + 0.2242831 0.88505 — 3.852131 3.84909 +- 2.493981
u = 0.540814 — 0.2242831 0.88505 + 3.852131 3.84909 — 2.493981
u = —0.353189 + 0.3817641 —0.9713831 0.4 6.394521
u = —0.353189 — 0.3817641 0.9713831 0. —6.394521
u = —0.451862 + 0.2052111 —0.139076 — 1.0803801 2.54390 + 3.630611
u = —0.451862 — 0.2052117 —0.139076 + 1.0803801 2.54390 — 3.630611




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Cs uBt 290 4+ 4 6u+1
c2,Co udt — - 2u 1
€3, €10 a4 2u+1
Cq,C8 udt —5u®B o —du+ 1
C7,C12 W 5B+ A+ 1
Cg,C11 uBt —20uB 4+ —6u+1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C5,C9 B 4+ 538 + .-+ 66y + 1
C11
C2,C3,Ce y84+29y83++6y—|—1
€10
C4, €7, C8 Y3t 44993+ — 62y + 1
C12




